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QUESTION 1

What objects can be created within the Cognos Namespace?
A. Roles and users

B. Groupsand roles

C. Groups and users

D. Members

Correct Answer: B

QUESTION 2

What can be created if the financial analyst wants to look at the data by fiscal year, while the senior manager wants to
analyze the data by calendar year?

A. An alternate hierarchy in the time dimension.
B. A subdimension in the time dimension.

C. A special category.

D. A calculated category.

Correct Answer: A

QUESTION 3

The dimensions in the model include Product, Customer, and Order. If the Powercube should focus on the sales orders,
how can the developer remove customer data?

A. Omit the dimension from the PowerCube.

B. Apex the dimension in the model.

C. Set measure allocation for the Customer dimension.
D. Suppress the dimension in the model.

Correct Answer: A

QUESTION 4
When measures are calculated after rollup, when are the calculations performed?

A. Before time state rollup takes place.
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B. After allocated measures are calculated.
C. Before regular rollup takes place on all measures.
D. After relative time calculations.

Correct Answer: B

QUESTION 5

What can be created to determine the monthly growth showing the percentage of change between Current Month and
Last Month for all measures included in the PowerCube?

A. Calculated columns
B. Calculated categories
C. Calculated measure
D. Alternate hierarchies

Correct Answer: B

QUESTION 6

How can the parent-child relationship for each category be established?
A. Verify the model.

B. Insert manual levels.

C. Show category counts.

D. Generate the categories.

Correct Answer: D

QUESTION 7

How can the cube build flexibility and performance be maximized?
A. Enable Consolidation.

B. Enable the AutoSummarize property.

C. Combine Structural and Transactional data into one data source
D. Preprocess the data.

Correct Answer: D
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QUESTION 8

What can be done to show how many retailers of each type bought a specific product each month, quarter, or year?
A. Create a calculated measure with a Time state rollup.

B. Specify an allocated measure as the Activity Measure.

C. Create a calculated column.

D. Define a measure that counts categories.

Correct Answer: D

QUESTION 9

How can a cube be built with data volumes that result in a .mdc file larger than 2 GB?
A. Set the MultiFileCubeThreshold value to zero.

B. Enable the creation of multiple local PowerCube files.

C. Remove the auto-partitioning scheme.

D. Use multiple checkpoint files.

Correct Answer: B

QUESTION 10

Where are the log files accessed to troubleshoot issues?
A. In the Content store.

B. In the Binfolder in the installation directory.

C. In the path set in Transformer preferences.

D. In the Temp directory.

Correct Answer: C

QUESTION 11
In Transformer, how can a developer restrict access to an entire PowerCube from authorized users?
A. Apply cube-based security.

B. Set member-based security.
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C. Apply nhamespace-level security.
D. Set package-based security.

Correct Answer: A

QUESTION 12

A dimension organizes all the regions by Country and City. Disregarding the hierarchicalorganization, how can the five
best performing regions be grouped?

A. Create a scenario dimension.

B. Add an alternate drill-down path.
C. Add a special category.

D. Create a subdimension.

Correct Answer: C

QUESTION 13

What should a developer do if some levels appear red after validating the model using Show Scope?
A. Ensure thelevel exists in the data source.

B. Specify a valid relationship between the level and the data source.

C. Re-attach the categories in the Dimension Diagram.

D. Apply unique move to the level and regenerate the categories.

Correct Answer: B

QUESTION 14

At the beginning of the fiscal year, the Camping Equipment product line reduced the number of products that are being
sold. What can be done to remove the inactive categories that are no longer needed in the model?

A. Set the level inclusion to suppress categories that are not needed.
B. Incrementally update the Powercube.

C. Prevent the automatic generation of new categories.

D. Generate the categories.

Correct Answer: A
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QUESTION 15

ACognos 10 report with prompts is used as a data source. What must be done to create a second query that is based
on the same report but provides different values for mandatory prompts?

A. Add the second query to the report data source.

B. Refresh thesource when adding the second query.

C. Add prompt values to the cache in the Transformer data source.
D. Add the same report as another Transformer report data source.

Correct Answer: D
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